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R1 = 5 H r1 = 3 H R2 = 4 H r2 = 3 H m1 = 4 H m2 = 12 H
m3 = 15 H m4 = 10 H S = 123 H cosα = 0,8 I
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R2 = 4 H r2 = 3 H m1 = 8 H m2 = 10 H m3 = 15 H
m4 = 10 H S = 86 I
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R2 = 4 H r2 = 3 H m1 = 20 H m2 = 10 H m3 = 12 H
m4 = 13 H S = 110 H cosα = 0,6 I
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R2 = 4 H r2 = 2 H R3 = 3 H r3 = 2 H m1 = 5 H m2 = 13 H
m3 = 13 H m4 = 12 H S = 43 H cosα = 0,6 I
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R2 = 5 H r2 = 3 H m1 = 5 H m2 = 12 H m3 = 15 H
m4 = 15 H S = 188 I
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R1 = 4 H r1 = 3 H R2 = 4 H r2 = 2 H R3 = 4 H r3 = 2 H
m1 = 5 H m2 = 13 H m3 = 10 H m4 = 15 H S = 86 H
cosα = 0,8 I
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R1 = 5 H r1 = 3 H R2 = 4 H r2 = 3 H m1 = 10 H m2 = 15 H
m3 = 30 H m4 = 13 H S = 272 H cosα = 0,8 I
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R2 = 5 H r2 = 3 H m1 = 12 H m2 = 16 H m3 = 20 H
m4 = 12 H S = 150 I
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R1 = 3 H r1 = 2 H R2 = 4 H r2 = 3 H R3 = 4 H r3 = 2 H
m1 = 16 H m2 = 10 H m3 = 15 H m4 = 10 H S = 51 H
α = π/3 I
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R2 = 4 H r2 = 3 H m1 = 15 H m2 = 2 H m3 = 26 H
m4 = 12 H S = 126 I
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R1 = 4 H r1 = 3 H R2 = 3 H r2 = 2 H R3 = 5 H r3 = 3 H
m1 = 35 H m2 = 13 H m3 = 10 H m4 = 13 H S = 213 H
α = π/3 I
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R2 = 4 H r2 = 3 H m1 = 12 H m2 = 2 H m3 = 26 H
m4 = 12 H S = 78 I
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R2 = 5 H r2 = 3 H R3 = 5 H r3 = 3 H m1 = 15 H m2 = 12 H
m3 = 15 H m4 = 12 H S = 216 H cosα = 0,8 I
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R2 = 3 H r2 = 2 H m1 = 10 H m2 = 10 H m3 = 3 H
m4 = 10 H S = 66 H cosα = 0,6 I
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R1 = 3 H r1 = 2 H R2 = 5 H r2 = 3 H m1 = 20 H m2 = 10 H
m3 = 15 H m4 = 15 H S = 120 H α = π/3 H cos β = 0,8 I
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R2 = 5 H r2 = 3 H m1 = 10 H m2 = 10 H m3 = 6 H
m4 = 12 H S = 76 H cosα = 0,8 I
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R2 = 5 H r2 = 3 H R3 = 3 H r3 = 2 H m1 = 18 H m2 = 15 H
m3 = 12 H m4 = 12 H S = 171 H α = π/3 I
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R2 = 4 H r2 = 3 H m1 = 12 H m2 = 2 H m3 = 20 H
m4 = 15 H S = 78 I
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R1 = 4 H r1 = 3 H R2 = 5 H r2 = 3 H m1 = 3 H m2 = 13 H
m3 = 15 H m4 = 15 H S = 92 H cosα = 0,8 I
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R2 = 4 H r2 = 3 H m1 = 5 H m2 = 10 H m3 = 12 H
m4 = 13 H S = 120 H cosα = 0,6 I
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R2 = 4 H r2 = 3 H m1 = 10 H m2 = 10 H m3 = 6 H
m4 = 13 H S = 78 H cosα = 0,8 I
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R1 = 4 H r1 = 2 H R2 = 4 H r2 = 2 H m1 = 10 H m2 = 15 H
m3 = 1 H m4 = 15 H S = 82 H cosα = 0,6 I
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R1 = 4 H r1 = 2 H R2 = 4 H r2 = 2 H m1 = 5 H m2 = 15 H
m3 = 13 H m4 = 12 H S = 135 H cosα = 0,6 I
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R2 = 3 H r2 = 2 H m1 = 6 H m2 = 13 H m3 = 6 H
m4 = 13 H S = 38 H α = β = π/3 I
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R2 = 3 H r2 = 2 H R3 = 4 H r3 = 2 H m1 = 16 H m2 = 10 H
m3 = 10 H m4 = 10 H S = 46 H α = π/3 I
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R2 = 4 H r2 = 3 H m1 = 8 H m2 = 12 H m3 = 15 H
m4 = 10 H S = 135 I
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R2 = 4 H r2 = 2 H m1 = 5 H m2 = 10 H m3 = 2 H
m4 = 15 H S = 64 H cosα = 0,6 I
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R2 = 4 H r2 = 2 H m1 = 10 H m2 = 10 H m3 = 2 H
m4 = 15 H S = 111 H cosα = 0,8 I
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R1 = 3 H r1 = 2 H R2 = 5 H r2 = 3 H R3 = 4 H r3 = 2 H
m1 = 100 H m2 = 13 H m3 = 12 H m4 = 12 H S = 137 H
α = π/3 I
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R2 = 5 H r2 = 3 H m1 = 6 H m2 = 13 H m3 = 12 H
m4 = 12 H S = 43 I
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R2 = 5 H r2 = 3 H m1 = 15 H m2 = 16 H m3 = 26 H
m4 = 12 H S = 224 I
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R2 = 4 H r2 = 2 H m1 = 1 H m2 = 10 H m3 = 10 H
m4 = 15 H S = 108 H α = π/3 I
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R2 = 5 H r2 = 3 H m1 = 15 H m2 = 8 H m3 = 30 H
m4 = 13 H S = 204 I
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R1 = 3 H r1 = 2 H R2 = 4 H r2 = 3 H R3 = 5 H r3 = 3 H
m1 = 5 H m2 = 13 H m3 = 12 H m4 = 10 H S = 80 H
cosα = 0,8 I
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R2 = 4 H r2 = 3 H R3 = 4 H r3 = 3 H m1 = 80 H m2 = 13 H
m3 = 15 H m4 = 10 H S = 236 H cosα = 0,6 I
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R2 = 4 H r2 = 3 H m1 = 20 H m2 = 10 H m3 = 12 H
m4 = 13 H S = 165 H cosα = 0,6 I
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R1 = 3 H r1 = 2 H R2 = 5 H r2 = 3 H R3 = 4 H r3 = 3 H
m1 = 5 H m2 = 13 H m3 = 15 H m4 = 12 H S = 90 H
cosα = 0,6 I
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R2 = 5 H r2 = 3 H m1 = 10 H m2 = 13 H m3 = 12 H
m4 = 15 H S = 100 I
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R1 = 3 H r1 = 2 H R2 = 4 H r2 = 2 H R3 = 5 H r3 = 3 H
m1 = 25 H m2 = 13 H m3 = 10 H m4 = 15 H S = 126 H
cosα = 0,8 I
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R2 = 4 H r2 = 3 H m1 = 80 H m2 = 10 H m3 = 4 H
m4 = 13 H S = 321 H cosα = 0,6 H β = π/3 I
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